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UKPSC-2012 (Mains) (G.S Paper-VII)

W ST TE TR I
(GENERAL APTITUDE AND ETHICS)

Part-1/911-1
Marks—30/37eh-30

e ;3@ 9§ HA 15 9§ gl g s @) ves g % fed 02 ofw fawifa )

Note: There are 15 questions in this part. All questions are compulsory. Each question carries 02 marks.

1. FrAfafes Trew § @ 98 (?) sy : [ 3T HM@T: 20 K ]
BUCKET : ACTVBDJLDFSU :: BONUS :?
Find the mising term in the following analogy: [Answer Limit : 20 Words]

BUCKET : ACTVBDJLDFSU :: BONUS :?

2. freAfafad weri § Saed fof FF-T1 TF FoF FRO g TN HE-T TF HIF TG 22
I 1 : STHEN § g w1 ygfa st 21
FIT 11 : JHT-STH & TR ITHHRN & Freel o § faedfes nfafafrm s 2
[ ST & : 20 T |
In the following statements, identify which one is the cause and which one is the effect?

Statement I : Uttarkashi is very prone to earthquakes.
Statement II : According to seismologists, there is a lot of tectonic activities going on the down belt of

Uttarkashi. [Answer Limit : 20 Words]

3. 20 O &, 30 W HioA T W formedi &1 ST A 4 (IR) 1S YN 1 GHERR WS [

EaiEel [ ST G 20 35 |
The algebraic sum of the deviations of 20 observations, measured from 30, is 4 (four). Find the arithmetic
mean of these observations. [Answer Limit : 20 Words]
4( l_ W8 ! jammsrmaﬁﬁr@n [ ST i : 20 ¥ |
BT VTS A3 B+l ’
1 1 1 1

Find the value of + + + Answer Limit : 20 Words
Crmr A et o acve] [ ]

5. C Us oA G 21 C &1 500%, 500 C &1 fohaa % 272 [ ST dH: 20 v ]
C is a positive number. What % of 500 C, is 500% of C? [Answer Limit : 20 Words]

6. A %1 o B® oad W 40% (s 1A % 9ad § B 1 o fehad gfaerd (%) %9 €2

[ ST & : 20 % |
A’s salary is 40% more than B’s salary. By what percentage (%) B’s salary is less than A’s salary?
[Answer Limit : 20 Words]

7. AfE 05 SHaEdt, 2000 i WHEAR €, 1 30 AE, 2000 i HHA-T &7 g [ S HH: 20 98 ]
If 05" January, 2000 is Monday, then what would be the day on 30" March, 2000?
[Answer Limit : 20 Words]
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8. Uh ATkl Wi A TN ¥ gL T S siell, ‘bl Ueit T e &1 gehadil it ©1' 39 oAt ol S

Y o gy 82 [ S i 20 ¥ ]
Pointing towards a person, a woman said, ‘His wife is the only daughter of my father.” What is the relation
of that person with the woman? [Answer Limit : 20 Words]

9. FfE < TS WS 1 UK WL 12 § qU1 ShT BUHF HIEA 11% g, @ 9 "end # 8?2

[ ST & : 20 = |

If geometric mean of two positive numbers is 12 and their harmonic meanis | 1L , then what are the numbers?
13

[Answer Limit : 20 Words]

10. Hfaeme =R =1 Fams Tegga € e aedreHs 1eEaE? foeer Rt [ 3T M 20 ¥ |

Ethics is a Normative Study of Conduct or Positive Study? Discuss. [Answer Limit : 20 Words]
11. ‘g3’ & &Rl i T FHifed| [ ST HH: 20 K |
Elucidate the kinds of 'values'. [Answer Limit : 20 Words]
12. fifqeme & &5 o, TS S w1 F ANEE 7?2 [ ST HEm: 20 I |
What is the contribution of Emmanuel Kant in the field of Ethics? [Answer Limit : 20 Words]
13. SHE-HE&pfa ¥ 9 N qH 2?2 [ S HE: 20 W ]
What do you understand by work-culture? [Answer Limit : 20 Words]
14. S8l ¥ SIEvds THE@ God HH-H 22 [ ST €4 1: 20 9 ]
What are the important values required in public service? [Answer Limit : 20 Words]
15. M=ro TR wed 872 [ ST |4 : 20 v ]
What is Conduct? [Answer Limit : 20 Words]
Part-2/9TT-2

Marks-50/3%-50

A ;3@ 9 H HA 10 99 21 Gl A rfreard €)1y weA & ford 05 sfe Frwifa €

Note: There are 10 questions in this part. All questions are compulsory. Each question carries 05 marks.

16. = Hfaeme Hee fo=eiial aFesiaT 9§ Fafud 22 diaw foeem it | [ ST dH1: 50 9% |

Why Ethics is related to rational human life only? Discuss briefly. [Answer Limit : 50 Words]
17. Afaes wafa &1 a@zmE| [ S dH: 50 38 ]
Describe moral attitude. [Answer Limit : 50 Words]
18. UMa =afadd & @0 % ®9 H ‘"EcHE gfg’ w1 fadem wifs| [ ST & : 50 =K |
Discuss 'Emotional Intelligence' as a trait of human personality. [Answer Limit : 50 Words]
19. HIARE IMEA e R TH feoqoft fafe [ ST €M 50 % ]
Write a note on Corporate Governance. [Answer Limit : 50 Words]
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20. fr=fafad Tl & WE 7Fd U WA Hife [ 3T M@ 50 K ]
2.2 1 341
x 3y 6 Xy
Solve the following equations taking them as linear : [Answer Limit : 50 Words]
2 2 1 3 4 1

21. T € IR SMUR SR FHE % Ve, TGN 9 e % SAFdAl 1 U T shifer
[ 3T HHET: 50 ¥ ]
Find the ratio of the volumes of cone, hamisphere and cylinder which are made with the same circular base

and height? [Answer Limit : 50 Words]
22. frAfafEd gl +1 Afeash qen Sgers &1 =R Hawted| [ ST FH 1 50 I ]

25,33, 72, 65,29, 60, 30, 54, 32, 53, 42, 52, 42, 51, 42, 48, 45, 47, 46, 33

Find the difference of median and mode of the following data : [Answer Limit : 50 Words]

25, 33,72, 65, 29, 60, 30, 54, 32, 53, 42, 52, 42, 51, 42, 48, 45, 47, 46, 33

23. U N & foenfeRi #) siwa g 15 o ol S 5 3 oIl w1, ! siga oy 12 5 6 "' €,
oft yaw e T @ I Fen FY NG g 6 WE W | ke § YRR § fhan ferneff 97

[ ST HH 1 50 I ]
The average age of a class was 15 years. When 5 more boys, whose average age was 12 years 6 months were
admitted in the class, the average age of the whole class was reduced by 6 months. How many students were

there in the class originally?
[Answer Limit : 50 Words]

24, Ffg 150 w1 @R qod 120 wHHe & foskhd qod & el 81, @ gfaed § o9 [ i

[ 3T HHET: 50 ¥ ]
If the cost price of 150 shirts is equal to the selling price of 120 shirts, find the profit in percentage.
[Answer Limit : 50 Words]

25. ferdht g ABC & =1 9 fagei B @en € & fdenes wwen: (1, -2) @R (2, 3) €1 dww o A @
2r+y—2=0 W 2 FYSt 1 Ghed § o THE B A A F ke W@ w

[ ST M 50 I ]

The coordinates of the vertices B and C of a triangle ABC are (1, — 2) and (2, 3), respectively. Third vertex
A lies on the line 2x + y — 2 = 0. Area of the triangle is 8 square units. Find the coordinates of the vertex A.
[Answer Limit : 50 Words]

Part-3/911-3
Marks-40/37er-40

A : 3H WM G HeA 07 YA € 991 02 @US §| WUS-1 % 04 e § © F=l 03 WAl ws @wue-2 &
03 ge ® W feredt 02 Tl 1 S fean i sifemd ®1 s g % faw 08 o fAwifa €

Note: There are 07 questions in this part and their 02 sections. It is compulsory to answer any three questions
out of four selected from section-1 and any two questions out of three selected from section-2. Each
question carries 08 marks.
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Section-1/9@Us-1
General Aptitude/ATar= 7fT& e

26. Tk Ternem o fonell wenm & 400 femnedf €1 S99 @ 270 o, 300 %= @ 50 fasiE wEiw Tgd €1 9
e S o ved €, % off gd €1 20 M o foen wEiN Tgd ©1 35 %9 9 fasg = ved 2
s forneff 1 =z A1 S @1 Wigwkdr @@ Hifed fm g e famef ww wear € fhg mfora qen

fosrme w2 78 Ygall wad a9 AR@ H AN Hifed| [ 3T HH 1 125 9= ]
There are 400 students in a class of a school. Of these 270 study Maths, 300 French and 50 Business Studies.
All those who study Maths, study French also. 20 study Maths and Business studies. 35 study French and
Business studies. A student is selected at random. Find the probability that the selected student studies French
but neither Maths nor Business Studies. Use Venn diagram only.

[Answer Limit : 125 Words]

27. fret & w1 A 3R B el HAW: 7 9 14 T § W FA 1 A 9 B I fHaeR I fam wm w7 )
T A & 98 ¢ 39 *E | et © W €, O wE T 9 H 9w S 21 stk © fRad A |
39 w1 & QU HET? [ 3T HH: 125 9] ]
A and B alone can complete a piece of work in 7 and 14 days, respectively. A and B work it together for 2

days and after 2 days, C joins them. Now, the work is completed in one day. In how many days can C alone
do that work? [Answer Limit : 125 Words]

28. 12% oiftieh FIEROT =A1S 1 € 9 T At dF 9 30,000 SUR odl B1 & o ag 215,200 S hi
T FHIA F| Fol Bl G I F B A€ SR G o 91, SH fRa T 3 FW?

[ 3T T 125 9% |

A man borrowed 30,000 at the rate of 12% per annum simple interest from a bank. He paid ¥15,200 after
two years to the bank. How much he will have to pay after two more years, to clear the loan?

[Answer Limit : 125 Words]

29. T IAEH Trelt a6 P SAREH G W p% AUH qod W a=dl 21 AR 98 Weh H q% B W €,
a gfaem o @y ;a wifs [T 4 125 9 ]

A manufacturer sells an article at p% more than the cost of production. If he gives a discount of q% to the
customer, find the profit in percentage. [Answer Limit : 125 Words]

Section-2/QUs-2
Ethics/3TT=IX I&EA

30. Afggfa 1 =1 &t foe=m St [ ST HHr: 125 9 |
Discuss the formation of attitude. [Answer Limit : 125 Words]
31. Tt foeshr< w1 fensti w1 gae & fou s deE 22 e st [ S @ 125 9K |

What is the contribution of the teachings of Swami Vivekanand for Society? Explain.
[Answer Limit : 125 Words]

32. IMTEHE B 'SamEREl’ & Hewd 1 foeem sl [ ST Fmr: 125 9% |

Discuss the importance of ‘Accountability’ in governance. [Answer Limit : 125 Words]
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-4 /Part-4
Marks-80/3Teh-80

e : 3@ 9M § A 07 YT B q91 02 @UE 1 @UE-01 & 04 YA H ¥ R 03 v wd wue-02
® 03§ ° Tl 02 gwl 1 ST o Wi erferd 1 yeie wed % ford 16 ot fuifa €

Note: There are 07 questions in this part and their 02 sections. It is compulsory to answer any three questions
out of four Section-1 and any two questions out to three selected from Section-2. Each question carries
16 marks.

Section-1/@vs-1
General Aptitude/ATaT= TRT&e

33. THh fawa Teie &1 Rgfis o1 ®v 9, ffveg mfgs a7 qen fowa | fiaem o wHvE w® AR
FI 81 ¥ 2011 §, YUYW UR WE HI @y W, SHA T 26,272 1 HiA S AR het WRAHR T 5,284
I o o & 9= U Wl | ST 43,008 T HIG o a1 Kol UIRHHeE T 9,376 U fRan faswa
Teie &1 fafvea mifass a7 don wHivE &t T A[ S| [ W FHr: 250 K |

A selling agent’s remuneration consists partly of a fixed montly salary and partly of a fixed percentage on all
sales effected by him. During the first four months of the year 2011, he sold goods for ¥ 26,272 and received
a total remuneration of ¥ 5,284. During the rest of the year, he sold goods for ¥ 43,008 and received the total
remuneration of ¥ 9,376. Find his montly salary and the percentage rate of commission.

[Answer Limit : 250 Words]

34. Uk STFAHR ST 1 a8 60 Hi ae1 el 40 R 2| TR oo 9 ek b AR 4 HeX =g
TR a0 & F= ¥ e 9 &1 70 9 o HiX 1 W A I TR T K @ A i

[ ST i : 250 IR |
A rectangular garden is 60 metre long and 40 metre wide. Two cross paths, each 4 metre wide, are to be
constructed parallel to the sides of the garden. These paths pass through the centre of the garden. Find the
cost of construction of the two paths at the rate of ¥ 70 per square metre. [Answer Limit : 250 Words]

4l
35, T FITT : —L

4. ! [ 3T € 250 W= ]
1 1 1
3—+1- 2+ I
2 2+—l
5_°
5
4l ol |
Simplify: Z f+ 1 [Answer Limit : 250 Words]
3—+1= 2+71
27 2+—1
5_°
5

36. A,B @ C T% MR | 9FRR €1 A FESN 9FER &1 T W FH W R AT H 10% 909 & §9
o g € AT o ol A W OHHE: 2 2 3 : 4 % AU W siel Sl g1 AR A H KA T3 @ fHerd
&, @ B 9 C &l 9@ 89 areft T 7@ i [ TR HiH: 250 e |

A, B and C are partners in a business. A being working partner, receives 10% of the total profit as salary. The
remaining profit is distributed among them in the ratio 2 : 3 : 4, respectively. If A gets T 3 lac in all, then find
the amont received by B and C. [Answer Limit : 250 Words]
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Section-2/@Us-2
Ethics/3TT=IX I

37. Ah-gemeA § Afqeme &t qfert &t foeem wiEl [ 3T G 250 UK |

Discuss the role of Ethics in Public Administration. [Answer Limit : 250 Words]

38. I &1 URERIA & fau ‘gea & sifer’ &1 et &1 foe=m wifsal [ ST HH: 250 K ]

Discuss the role of ‘Right to Information’ for transparency in Governance. [Answer Limit : 250 Words]

39. frefafed yeor ®1 SEurgEs afer deon 3us 9 fad ™ g w1 W
ft X T A FATHR § S oS B W afq et € 9 fomem & AR e # g e
TEd FX €, T faemerd & 91 et well ® B 1 ST WHE 9§ T’ A ki ek famedf
I IR HE fama I W AfF THF T IGIC U W sEiy H ot X’ A oW TS A ud ¥ W@t
% YAFEH R HW A 9| Tel T & SEH-YSH W 9 (S W ¥ 3HE INER & SR 95
1 T gB1) 31+ BT §, 39 forneft 7 o1 ereATash i STt S e | Hafud e He Yy
T
T 1 : 39 IRGed ® #H-9 gifad ge8 $Sd ©2
I : 39 ufiferfd 1 fFE TR STeaTaehl 1 STER GiEd w1 Scwisd BT S gehdl 87
I : 39 Y0 & Gy H fod=m Fifsd & ot <X° &1 31 &3 afed? [ 39§ 250 95 |
Study the following case carefully and answer the questions that follow:
Mr. ‘X’ is a veteran teacher who is very popular among his students. He frequently offers students extra help
after school, so it is not uncommon to see students visiting his classroom after school. He has tutored one
student ‘Swati’ in a variety of subjects over a two years period. During that time Mr. X’ has e-mailed messages
on Swati’s cell phone, using his personal e-mail address. At first, the messages were very general (e.g. asking
Swati, about a sick family member). Recently, the student began to text her teacher about more personal
feelings.
Questions : I : What possible issues/concerns might this scenario raise?
IT : How can this situation become a violation of the professional code of conduct for teachers?
IIT : Discuss the case 'What should Mr. ‘X’ do?
[Answer Limit : 250 Words]
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